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Segment  L(mm)  X(mm) y(mm) Z(mm)  XL(mm’) VL (mm?) zL (mn)
l 7(60) = 1885 60 -38.2 0 11310 =T7200 0
2 40 0 20 0 0 800 0
3 20 0 40 -10 0 800 =200
2L =285 SXL=11310 XyL=-500 3XZL=-200
Thus,
XYL 11310
x=—-= =455 mm Ans.
3L 2485
3L -
o . Y Ans.
3L 485
T Y |
L= EL = U85 = —U.al) mm ANS.
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(b)
JM‘H}LHAU?MW&A“@M?%’WJ!M|MPSM|
(2) Jebaiuceld 201 Ao Lkl o0 Lompls iy (61 Ad s piai (3) pinad
Ol dlasdle ae d bkl (a6 32 JSI 350 dguises 03 JSCATI 32 pjadl 853
conidl (3) 9 (2) i bunadd x s9xbl 399 il

s gzt
Segment A (fP) X(fy Yy A f) YA (ft’)
1 33)3) = 4.5 1 1 4.5 45
2 3)3) =9 —1i5 15 =135 13.5
3 -2)XH)=-2 =25 2 5 -4
SA =115 S¥A=-4 3jA=14
Thus,
D o .
T 0348 Ans
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¥
150 mm | 150 mm
Ai) mm-_/ /
300 mim
. ¥4 ~ 150[300(50)] + 323[30(300)]
g PTUSA T 300050) + 500300)
25 ,,,"'m 1‘95 — = 237.5 mm

Rl Bl g pall aladoll Jatl 350 Solilos| ol s (4) s

y o=l
_SFA 100[20200)50)] + 225[30400)]
TTUSA T 20200050) + 506400)
= |62.5 mm
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By Aall syl aladall Jatl 3Spe cilidlos coua! : (5) Alas

X

Y X o ygrmell
CSEA 0250405)] + 175[05(25)]
TS H05) 1 0505)

= (827 .

IyA  2[40.5)] + 0.25[(0.5)2.5)]

A 403) + (0.5)2.3)
=133
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